W ‘7Y eulAzimal elupnIS

50'80T

2L'y0T

29'70T

€e'e

0L'¢le

g = 3
S| >
Z
=
o o
_n/w o
5] =
(92
HOAMOCT10M MOY¥OL SO 09'70T W 02052
=
11
N
o
o
)
Te)
'}
<
wo'Theukzmer eupnis | 00'60T | 6¥'70T | 6€'70T | TG'% 0z'822 @|
X
o
L
Yo}
<
\ wo'ryeulfzmer eupnis | 6€°80T | 92'70T | 9T'¥0T | €T'% 0,281 @|
X
o
S
n
<
wo'Ty eukzwer eupnis | 09'90T | ¥0'70T [ ¥6's0T | 95'2 0Z'L€T @l
X
o
L
Yo}
<
wo'Theuikzmerepnis | 66'00T | T8'€0T [ T/'60T | t2'2 0,16 @l
X
o
L
Yo}
<
/ w o'y euikzmer epnis | 02'80T | 85'€0T | 8'€0T | 29'% 0z'9r @|
X
o
N
(=)
<
2
[a2]
[a]
i
80'60T | e'e0t [ Gz'eor | €46 |a 000 @|
“ujs! W ('l eulkzImal elupmis €¢¢0T €T¢0T G879 &
oUW o0 T 0T 700 worZod
Wo'TheulkzmelBUpNIS  09'TTT G/'60T  G9'60T  G8'T 006ty (=
S L
—
o
S
(=)
<
w gzy'0 eulfzmai elupnis | 0£'TTT | 62°60T | 61°60T | 102 00'€/E @
X
/ )
S
(=)
<
w gzy'g eulfzmereiupms | 00'TTT | €8'80T | €2'80T | /T°2 00'22€ @
4
o
S
(=)
<
w gzy'g eulfzmareupms | 09'0TT | L€'80T | £2'80T | €22 00'182 @l
X
o
S
o
<
w Gzy'0 eulfzmel Bupnis | 02°0TT | T6°20T | 18'20T | 622 00'5€Z @l
X
o
S
(=)
<
w gzy'g eulfzmereupms | 08'60T | Gv'20T | GE'20T | GeE'2 00'68T @|
X
o
S
o
<
o
o
N
[a)
i
w ggy'0 eulfzmes eupms | 0v'60T | 66'90T | 68'90T | Tv'z [a 00T | (&
3 L
=)
o
Q
<
<
wo'Theuikzmerepnis | 0v'60T | 22'90T [ 29'00T | €9'2 02'86 @l
54
o
o
o)
<
w szy'p eulfzmareiupms | 09'80T | 26'90T | 2+'90T | 80'2 0E'6Y @l
X
o
A
(2]
<
o
o
N
o
i
wo'Theuikzmerepnis | 05201 | 82'00t [ 8T'00T [ 22'T |a oo |
x
o 0020t 700 worZod
wo'ThRuzmeBpnS  08'TTT 99'60T 9G'60T  #T'2 ov'ie (2
3 e
=)
o
<
—
™
o
o
N
[a)
i
wo'Theuikzmerepnis | 69'TTT | 05'60T [ Ov'60T [ ST'Z | 000 | (=
v980T 5801 10°€ 2
a0 90T 700 worZod
wo'TheukzmelBpnS  08'TTT T9'60T TIG'60T  6T'Z 0908 (S
3 L
=)
o
<
o)
N
w szy'g eulfizmareupms | 00'2TT | 8+'60T | 8E'60T | 252 0Z'6LY @l
X
o
L
[ee]
N
w gzy'g eulfzmereupms | 0'TTT | ¥€'60T | v2'60T | 9€'2 0/'05¥ @|
X
o
Q.
~
<
w szy'o eulfzmar epms | 00'TTT | 0T'60T | 00'60T | 06'T 06'20¥ @l
X
o
2
0
(32)
w szy'p eulfzmareiupms | 00'zTT | 26'80T | 28'80T | 80'€ 0v'29¢ @l
X
S
o)
N
w gzy'g eulfzmereiupms | G0'zTT | 08'80T | 02'80T | Se2'€ 0E'2e @|
X
o
L0
—
(32]
wo'heuikzmereupnis | 59'TTT | #9'80T [ ¥5'80T | TO'E 08'0T€ @l
X
o
©
<
<
w ggy'g eulfzmereupms | G/'TTT | 2v'80T | 2€'80T | €€'€ 02'992 @|
4
o
~
<
<
w szy'p eulfzmareiupms | 0£'TTT | 02'80T | 0T'80T | 0T'E 08'T22 @l
X
o
<
<
<
w szy'p eulfzmarepms | JT'TTT | 26'20T | 28201 | 02'€ ov'2LT @l
X
o
<~
<
<
w ggy'g eulfzmereiupms | OT'TTT | G2'20T | G9'20T | Se'e 00'€€T @|
X
o
<~
<
<
w szy'o eulfzmarepms | 24'0TT | £6'20T | €¥'20T | ¥6' 09'88 @l
X
o
@
n
<
o
o
N
[a)
i
wo'Ty eulkzmwer eupnis | 06'607 | 0€'20T | 02'20T [ 09z |a e | (S
61901 | 60°00T | TLE g 2
o
o
@
N
<
o
o
N
o
i
wo'Theuikzmerepnis | 66'20T | e€'qoT | €2'q0T | 29z |a 000 | (o
7
oW 00¢0T 700 worzod
= — g
el 5| = L
| €| E g
£ = 4]
E| £ ¢ g
! 3 E E s —_
5 m - | = | 8 |=| E
o e 5 g < a | E] g
Ei s s B 2 E (g @ .
- gl 8|l | S| &8lz| £ 8
& & 5 S = [&a] 8 =

+0|74

(hm]

+0|19

90°
N\
i

t

+:|(%)l 14
[hm]

i

?+Ol05 [dam] ?

(hm]

Hektometr

GRUDZIEN 2012

g2
25
I =5
|2 |8 ¢
<2 |35
7} o2
BO S g
= |w S 2
<= OS]
Olgd 12556
< 2|4 =N 3
CNthdm o X
>o |k Qs s ER
NO|l<|g6E = 3£
Oz |Z20lg2§ =T
wolzYsss <] g |3
A = k5] e B N RN
O.NWiW.mC mm.o _
_IMZHhZCP a8 o | 5
1l Ol < 2| W £ | O Q
SLTMWW.@C sl | <
AInU_._HSonmN N«
N
=<53|865|0 = |23
<O|mafgNglx S | Zw
Z>[zz88z2 [0REE | %1
= = 8 2 S NS
MZG,OM,OD. = zZ
C,OLWWd N < ¥ N w
O uwr|g O o 0 w |>z
JE 2L vEdld [ag
o lw ¥|E & wiglgy o
o (= 5 24 =
a2 I8C <illFgl o=
(W S o > OElT »
o (= ww .mWM_.O_.
(o2 I'a) 585 N - |
(@] S5 WWWOSP
2 [°° 3 HE
8 |d« Mm
o
" = .
S [ & 2 |C < <
= i3
< z (& 2 B |3
_W S < 2l < Wﬁ
= < = = | o
= N N v |a D o




